PT8YT

Antal procent (antal saknas)

namn:

x20%=1.2

x 80% = 30.4

x70% = 17.5

x 50% = 37

x 30% = 28.5

x 30% = 13.8

x90% =9

x70% = 64.4

x 40% = 39.2

x50% =6

Datum:

x 10% =153

x20% =174

x 80% = 36

x 10% =9.9

x 10% = 5.2

x 70% = 66.5

x 30% = 3.6

x 30% = 24.6

x70% = 37.1

x30% = 2.7
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PTEPT

Antal procent (antal saknas)

namn:

6x20% = 1.2

38 x 80% = 30.4

25 x70% = 17.5

74 x 50% = 37

95 x 30% = 28.5

46 x 30% = 13.8

10 x90% =9

92 x70% = 64.4

98 x 40% = 39.2

12 x50% = 6

Datum:

53 x10% = 5.3

37 x20% =74

45 x 80% = 36

99 x 10% = 9.9

52 x10% = 5.2

95 x70% = 66.5

12 x30% = 3.6

82 x30% = 24.6

53 x70% = 37.1

9 x30% = 2.7

www.snowmath.com

Poéng:



https://www.snowmath.com

